Multiplication
When numbers in scientific notation are multiplied, only the
number is multiplied. The exponents are added.

/ ¥

(2.00 x 103)(4.00 x 10%) = (2.00)(4.00) x 103+4

Division
When numbers in scientific notation are divided, only the
number is divided. The exponents are subtracted.

9.60 x 107 _ 9.60 l

1.60 x 100 1.60 107—‘1
= 8.00 x 107
= 6.00 x 103
(4 x 102)(2.2 x 10%) 2. 9x107* _ -+
3x 100 3*10
=
S33*1D
(6.02 x 107)(2 x;(‘)—l) 4. 124;11024 _ D-j;‘ ID-“' -
| %.M-x D .
. 7Ox1D
].204 = 1D
-3 -10 =5 -3
T . ogri0
33 *ID =
5.0x10
35x%Ip"'%
3 5 , 7
(41x109)( ><81+0l ) = 2.2 %D
20.5 * 1D
~J
2.06 = 07
(2.5 x 104) (4 x 1077) 10. 4.6 x 107* -1
23axi0 - 21O

10=10""

1.Ox 10"




Period Date

Operations with Scientific Notation

These should all be solved without using a calculator. Make sure your answers are in proper scientific

notation.

1. (25x109(3x103) =765 |oq

3. (4x10)(2x101) = @3 |D¥*

5. (5x1015)(7x 106) = 254|D~9
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